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00000G=(V,E)0000000¢:E—~R,00000000SCVO00
00000000000000000 f=(P,A000S0000000000
000 (000D0000)00000P000000000000 A:P —R,O
00000000 (21)0000000000000000000000 HOOO
00000000000000000000000 4:(5)-R,0000000
000 f=(P,\N00000p-00000 |f,0 X pepulsp,tp)AN(P)DOOD
D000000skt,00PO000OD0ODODOOODNDOOOODDODDOD
0000000000000 0000000000000000000000

0000000000000 p-00000 | f|,0000000000 00000

pb0-10000000000000O00OO0OLODOOO0ObObOOo0bLbO0OnDoO
gboogogbboboooobbouooooon

00 4.7 (Onaga-Kakusho 71, Iri 71, Lomonosov 85). D 0000000

max{|[f[l, [ DOOO f}

. dO0VOOOOoooa
—mln{zyZE:EC(ﬂf?J)d(x’y) ' d(s,t) > p(s,t) (s,t € S)000O0 }

vl ooooooobooboo
OOopPOOSOOOOOOODOOOOO(OOOOOO)DODOODOOOOOO
00o0oobooooooobooboooog ax:P—-R.O#PO0OODOO
goooboooboobbooobuou pObooboobPOUODbOUODbOODO
00 A= (A(e,P):ec E,PeP)O

1 ifeeP,

e E Pe
0 otherwise, (e P)

A(e,P):{
00o00ooobob0dUde: PR, O#£E0000000DO0O00O0OOOOOODOO
000000AN<cO00D000OpDOOOODOPODOOODOOOOOO #PO
D000000000s,teSO0000 POOO0DOAP)=pu(s,t)00000
DDDDDDDDDDDDH]CHMDﬂT)\DDDDDDDDDDDDDDDDDDDD

max. ' A
s. t. Al <ug,
A>0

gogobobobbooooobobobuooon

Tl

min. c
s. t. ATl > i,
[ >0.
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obon/obodb rpOb00O00ODbDODOLOD #4EF0D00ODODODOOO0O0ODODDODO
ERERE

min. Z c(e)l(e)

s. t. Zl ) > u(sp,tp) (P €P),

eeP

l:E—>R+.

gbbougbboobogboobuoobbooboobbobobboobon
gooobooboobooobooboobooboooboobooDbobnoobD M
goboobbooobb MmObOooobobooobboobbbooobod
gogbbo4s00b000nobbooooooboan

oooobooooboobobD l-EF—-RyO000000OO0OOVOODODOD
de; 0000000000

deu(s,t) = mln{Zl ‘PD sDtDDDDD}zu(s,t) (s,t €09)
ecP

0000000000000 2y0000dg(x,y) <l(zy) 0000000 (2yD z
Oy00o00ooo0o00)0c0000000., cpcl@y)dai(@,y) <>, cpclzy)l(zy)
D0D000000000VDOOO0O000d0000 d(s,t)>p(s,t)000000
00 FO0D0DDD0D00000O0ODDDOODDDOs,¢t00000 POOO
D000000000Y, pdle) >d(s,t) > u(s,)000000000004d00
000000000000000000000000000000000000
OoDO0O0O0O

min. Z c(zy)d(z,y)

zyel

s.t. 4 VOOOoOOoOOoO,
d(s,t) > u(s,t) (s,t€). (4.2)

gogbobobuoooobboooobbbuooonoo

4.2 T-0000

0000000047000000000000000200000000000
00 000Lovasz-Cherkassky 1 00000 000000000000000 00
00S ={s,t},u(s,t)=100000004700000000000000000
000000000000000008 = {s1,t1,ss,ta}, ulsy,t1) = p(ss, ta) = 10
000000000000 4700000020000000000000000
00000000000
00000000000000000000000000000000000
0004000470000000000000000000000000000
‘000000000000
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0000000000 d0O 42)000000000dO0OVOOOOOOOOO
0000000000000000000 d(s,t)>u(s,t)00SCvVOOOOO
0000000000000 2zeVOOOOORYOO0DOO0OO p,0O

pe(s) =d(z,s) (s€S)

ooooo0dp, 0000 dO 00000000000 SO0O0OO0O#SOO
ggooboboobogd

dloo(psapt) - d(s,t) (S,tES),
dloo(pzupy) S d(xay> (I,yGV)

00000000000 000004200000000002000000|p.(s)—
py(8)| = ld(z,s)—d(y,z)| < d(z,y)(00000)00000000000000O
00 dO (RS,1) 00000 {peleey 000000 (di(pspy) : 2,y € V) OO0
goooobbbootoooooooob cogobobbbboooooooon
000000 (42) 0000020000000 9p, ceR°0O00O0O00O000O0O0O
O0000D000000d(s,t) >u(s,t)000000p, 00000000OODO
0000000000000000D0000O0OR00000 p,O0000O0O0
pP,,O000000000

B, = {peR”|p(s)+p(t) > u(s,t) (s,t € S)},
P,y == {peP,|p(s)=0} (sed).

0000000000 p, (z€ V)OO0 Op,(s)+pe(t) = d(z, s)+d(z, t) > d(s, t) >
u(s,t)0000p, € P,OOOODODO s € SO0D0DOp(s) = d(s,s) = 0000
ps€P,,0000000000zeVOID000p, €, 0000000seS0
00000p, € P,,00000000000000d,(ps,p:) > |ps(t) — pe(t)] =
ps() +p(t) > u(s,t) 00000000000 p(t)=000000000000
00000 {poteey 00000 (di(paypy) : 2,y € V)ODODODO (42)00000
000000000(4.2)000000000000000

min. Z c(zy)di. (p(x), p(y))

zyel

st. p:V — P,
p(s) € Py (s€9). (4.3)
00000000000P, 00000 7,0P,,000007,,0

T# = PuDDDDDDDDDDDDD,
T,s = {peT,|p(s)=0} (s€)

goooooooooop00000000pP,00p0d0d000000qe P,0
U0UOg<pUU0O0p=¢O0000000O0O00O0O000OO0DOODOOO0ODOO
0000000000007,0000000 (tightspan) 0000000000
O000000DO00D00D00 J.R.IshellO A.Dress0O00O0000O0OODOOO
oooodooo P, 007, 000000000000O00C0O00000040
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00 4.8 (Dress 84). 0000000000 ¢:P, —7,000000
(1) di(o(p),9(q) < di.(p,q) (p,q € P,)O

(2) o(p) <p (pe P)ODODO ¢(p) =p (peT,)D
Proof. s€ S000000 ¢,: P, —P,000000000

t ift#s
0s(p)(t) := { Zjlfl;X{O,u(u, s)—p(u)} ift=s. (t € 5).

u€S\s

00000¢, 0000000000 p(s)000000000000000000
0 (20000000000 ¢, 00000000 (000 (1)0000)0000
bs(p)(s) = ggﬁ&u@&)—MW}=5Q§WJMA$—QW%+MW—pWH

gﬁ@@#K%S%—ﬂuﬂ%lgggQQWJ—pWH

< ¢s(9)(s) + di . (p,q)

0000|ps(p)(s) = ¢s(q)(s)] < dio(p,q) DO O OO0 ¢s(p)(t) =p(t) (t#s)0
00d (¢s(p), ¢s(q)) < d.(p,q) DO0OO00DODO0O
008 = {s1,5,...,5}00000¢: P, — P,0 ¢, 00 ¢, 00000000

¢::¢sko¢3k—lo..'o¢s2o¢51
0dododoooobobeo 00000000000 ooooooon O

IN

000000000 43)0000000p:V—-P,0000¢o0p:V—T,0
gobodgobtuchbogobouoogbbuoogboboboobbooobbd
pO0O0 T, 00000000000 00000O0O0O0DOOOCOOOOOOOO
ggbbobugobobboooobbbuoooobo

od 4.9. 0000000
max{|fl,| 0000 f}

=mm{§jdwm%@mmmm pﬂ”ﬂ%,MﬂGRs®€S&-
zyeE

000000000 7-00000000000000,p0000000000
0D0000000000000000 0000000000000 7,0000
00000000000000000000000000°0000000000
0o00O0o0o0oo

00 4.10. 0000 (7,,l.)000000D000

Proof. p,q € T,0000p,q000 P,O000O0OOO (00 [pg)00000D0
48 00000000000000p,q000 7, 000000000 d(p,q)0
00000O00ooooo O

‘00000000000000000D000000000D000000000000
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15

1,

—

0 Lot

o bobbooboobooboobd

1000 S={st},pulst)=100000000100000000000 P,
00300000

p(s)+p(t) > 1, p(s) >0, p(t) >0

000000 200000000000000000000000000000
7,00(1,0)0 (0,1)0000000007,,,T,,000000{(0,1)}, {(1,0)}O
000000000000000000000(0,1]000000007-0000
000000000000000

min. 3" elay)lo(x) ~ pv)]

zyel

s.t.  p:V—10,1],
o(5) =0, plt) = 1. (1.4)

000 p00000000000000000000 |p(z)-py)|000000
0000000000000 000000000000000000

min. Y e(zy)lp(z) - p(y)|

zyelr

s.t. p:V—={0,1},
p(s) =0, p(t) = 1. (4.5)

0000p,000001000000000000000000000000000
00 (450000 (s,¢)-00000000000000000000000000
0000000 (4500 p:V —{0,1}00000(p4(0),p"1(1))00(s,t)-00
0000000000000000000 ¢(e40),p(1))0000000000
0000004 00000000000000000004.5)0 (4.4)000
000000000000000000000000 2200000000000
oooooo

000(4.4)000000000p:V —10,1]000000000000 pe (0,1)
00000p Y p) #000000000000000000 X0 {yeV|ply)=p}
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A .
"""" P,
__________ \ ........ :
Too 5 p(t)
— K
T, S—
1/2 / """""""
N\ i
O “p(s)
Tu,u ng

010 0000000000000000000
000000000 ¢ 0 min{l [e€R,p (p+6) #£0} 00000000000
pe 1V —1[0,1]0

p+(x) = pla) £ lfxE,X (xeV;0000)
p(x)  otherwise

Ub000000p. 0 XOODOODOUOOO 000 0000000 OOOnDO
gooogod

1
di. 0 p=5(dic 0 py +di 0 p-)

00000000000000000000000000000004.60000
O0p,0p.00000000p,,,.00000000000000000000
O0pe(0,1)000000000000000000000000(@.5) 0000
000000 (44)00000000000@5 00000000000

000000 0O00000000000000 Lovdsz-Cherkassky 000 3.40
00000000000000000000S030{s,t,«}000000000
000000 pO us,t) = pt,u) =p(u,s)=100000000000000 P,
oo600000

p(s) +p(t) > 1, p(t) +p(u) > 1, p(u) +p(s) > 1,
p(s) >0, p(t) >0, p(u) >0

0000003000000000000000100000000000000
00000000 7,0030 (0,1,1), (1,0,1), (1,1,0)0 10 (1/2,1/2,1/2) OO
000000000000000T,,, T,y T,.00000 {(0,1,1)}, {(1,0,1)},
{(1,1,0}000000000041000000000000 (T),l.) 0000 1/2
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11

12

(a) (b) ()
0 11:20000000000000000

0300000000000000000000000000000 100000
0000000000000000000 p0000000000000000
0000000000000000 70300095 ¢, p*r00000p°000
1/200000000000000030000000000000000000
00000000O00oOn

min. % Z c(zy)dr(p(z), p(y))
s.t. p:V — {ps,pt,pumo}a
(p(s), p(t), p(u)) = (p°, 0", p").

O0D000OD0DOLovasz-Cherkassky UD D 00O O0ODOO0OODOO0OOOOOOO
000000 p00000X = (ptp),p'(p),p Hp")) DOODOODOOOOO
0000000000000 0«X)0000000000000000000O30
00000 Lovasz-Cherkassky D 000000 O000O00DOO0O

#S=k>300000000000000000k00 1/20000000
0000000000000 0000DO00000O0DO000000DO00 Lovasz-
Cherkassky U OO OOQOOOO

2000 00020000000000 SO {s1,t1,5,6}000 p0 u(sy, ty) =
u(sy,t,)=1000000000000000000 P,O001000000000O
0004000000000000000000P, 0000000000000
00000 7,00(R21,,)000000000000000000 [0,1] % [0,1]
0000000000T,., Tu, Ths, Tue, 000000 40 (0,[0,1)), (1,[0,1]),
([0,1],0), (j0,1],1)0 0000000000000 43000000000 0(R2,1)
0 (R%,)00000000000000000L00000000000(4.1)
000D0450000001//2000000 (0 11)0

00000004, 000000000000004000000020030
000000000000000XOOOO00000000000000000
00000000000000000000000000000000

0000000000 000D0O0p:V—-00000000D00D0DO0DO0O0O0O
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3

P

NS
= ¢

012 XO0O0

XOOODODOOODoOoooOoooooOpOooobOooooooboooooon
0JdooooooooooboDo o000 Lodoooooooooooooo
ddilddddddooooooooooobbobooboooooooboooooao
OO00o0oo0oooooooooooog V0000000010000
JoddoobobooooddooooooboobooLooobooboboooooa
000000000 O0XOODODOOoO0oooo0ooooooooooooooon
O00000o0oooooooooooooo p:Vv—-0o00oo0oo0o0 xd
O0b00b0o0bO00ob0o0obo0oobOobobobOp0bObOODODOOODOOd o0p
000" 00000000000d,_op0d,_op/00000000DO0O0OO
O00000000oo py"0000oo0uooooooooooon

000000000000000 704000 pit,p'2,p*.p2 00000 p° 0
0Jo0000d0obO0oO0O0oo20000000000000O0000DODOOOOn
oo:

, 1

min. = > c(zy)dr(p(x), p(y))
zyelE

st p: Vo= {p'p" p*, p*, O},
0(81) € {pH?plQ}v p<t1) € {pzlap22}7
p(s2) € {p™,p*'}, plt2) € {p*%, p*}.

000000200000000003200000000000000000000
0000000000000000000000000000p7!(p°) =p"'(p"2) =
p(p)=0000000000p'(p%) =p~ (") =p"'(p'")=000000
000000000000000000000000(p'(p"),p~'(p®2)00000
(p~L(p'2),p'(p?"))0 20000000000

000 300000000000000000000 S0 {s1,t,S2,ts,83,t3}00
O O p(si,t1) = p(sa, ta) = pu(ss,t;) =10000000000000000300
000000000000000000000(R3,l,.)0000 [0,1]x[0,1]x[0,1]
00000000000000(R?,I,,)0 (R%,)00000000000000
0000002000000000000000000000000000000
0000000000000000000PCT,00000000000000
ooooo
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013: 00000 HO | ADAADQDOODOOODOOOOOOO

() SOUO0D0OO00Op000OD0ODOO0OOOOOODOODOO0ODG=(V,E)OO
gbobo c0oooobor-oobobuob POODODODOODOODLO
ggboboboogd

000000000000000000000000000000000000
0000000000000000003000000000000000000
00000000000000000000

0000000000000 20000000,0000000000000
00000000000000000000000000 000000000
000000000000000000000000000000000000
0003000000000 ()0000000000000000000000
0000000000000000000

0130000000 H0100003000000000000020030
0000000000000000000000000 (0000000000
00000000000100000000000300000 ([0,1/2]%0,1],1s)
0000000000000000000000020000000000090
0000 (j0,1/2] x[0,1/2],l,)0000000000000000000000
000000000000000 000000000007,,00000000
0000000000000000000000000000000000000
000000000
1000000000000000000000000000%000000
0000030000000000000000000000000000002
00000000000000000000000000001/4-0000000
000000000000000000000000000000000000
000000000000000000000000000000000000
00000000000
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5 OO

00000000 Ford-Fulkerson 00 OO0 D0O0O0O0OOOOODOOOODODOO
gogoobbooboodooooobobobbboodooooobobbboogoo
gobobooooooobboboooobbobboooobobboooooo
goboobooobobobobooobboobbuoo20o0obboobboooobba
bbb oubooouobuoobboobobuoobbuooooo
3,8, 12000 0000O0O0DOOOOOOODDODOOODDOOODODODODDODOO
00000000 000oo0o0o00oDoUoOo 400700000 O0ooood
ggooogo

dddobobooooobbobboboto 220000000000 Ud u
0002000000000032000000000 [plOCOOOOO0OODOOO
Lovéasz-Cherkassky 0 00 34000000 Cherkassky (1] 0000000000
0000000000000 0O000oO00D0oODOOoOOOoD0OODOOOo
gobbobooooobobbuooooouobobbooooobbbuoooooon
0 (000)04200000000000000000 7,0 Olshell [7]0 Dress 2]
U0o00o0bboooboboodbbODress0b0oboobobooobbooonoo
gooobooooobbooooobboobb oo booooooon
polymake 4|0 00 0000000000000 0O0O0O0OOOOOOOOOOOO
[9,10,5|0000000000000O0O0O0O B)D0DO0OOODDODOOO
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